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W . ¥ wvg 3 g A gw S TR we The value of K for which
2 Ha¥ w41
sinSx r 0
Nore : Attempy all questions from this section. Each s (x)= _31'_ , ifx#
q“t".‘rluﬂ Curriey 2 m"rj:_;_ K . ir::n
1. WY faamy wfe--

is continuous al g =) is:
Choose the cormect npﬂm :

: l
() K &1 a8 g1 faa% foa dd (a) =

3
z = z
sin S
o, ' I o = = (b) 5
E K ~vafe x=10) E E
z 3 % (c) 0
= = =
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= 5 B @ 3
} :
(a) 3
2
(i) TEEA L logxdx @ T Ta 2—
3
(b)
2
(a) log—
(c) 0 ¢
X e
% (b) '085
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(¢) log -
e
€
) log
4
Lhe value ot I log v dv s
I

2
(a) log
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=
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(d) log-
1
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(a) ,°

b x
(< 'k:}!.‘l.

1
() —
X

The itegrating factor of the differential equation

dv | :
——— -y =dr l.!. .

de x°

(a) ,*

{h) «

(¢) logx

|
(d) -
A
(iv) &l 37T . W SEFR @ Em s -
(a) WEEFWTD
(h) ¥7=1
/[..ﬂ fawrity

(d) 3% 0w T8
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For the inverse of a matrix A, it is necessary that

A must be
(a) Singular
(b} Non-smgular

_(€) Ihagonal
o
{d) None of these

(v) TR AR @I wTE R A PIBA) W oAR
g
(a) P(A)

(h) P(B)
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(c) I'{A/H)
(d) 1

It A and 2 are independent events, then P(B/A)

1 equal to

(a) P(A)

() P(B)
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(c) P(A/B)
/(_d) 1
L L &
Section-B
(e Fwira ) 5x3=15

(Short Answer Type Questidns)
ST : IH GvF F IV ofa ve R F54 gE 9
3 7T w7 #14

Note : Auempt all five\qguestions from this section.

Each question carries 3 murks
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9. wmEm = THEE wne 55 (0, 0) W

2,2
X~ +Yy

0o . (xy)=(00)

(o |
f(x.y)=i[L ' J-(I-.\}:(o.n)

Test the continuity of point (0, 0)
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e
Or
[ 1.1_1' ] . (J. },) 7 (0, 0) e B0 amA faaafed —
fx.y)=gLa +y

0. (x)=(0.0) T T et

"oep-

Find the value of
Or

| l :
N ‘
_r fraptferd— R l.[,, 1) (e ?) 2n

A
e’ =1
1.1
v 0 |

by intcgration

y"/f sraFel FElE R oE FIT
q

(.r - J,t}':)fb‘ = (_'.'1 - 3x "_'.')d.l

FFind the value of ;

e.l _ [
ji —=
x- 20 |
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Solhve the difTerential cquation :

5 \
v =3 dx
J'u X

: Or
}-valuatc

q
3 dx
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gd Sifal—
(x+y)dy+(x ~y)dx =0

Solve :

(x+y)dy+ (x- y)dx=0

S%a'ﬂ"ﬂq-

il a a
E ]
= I b b|=(a-b)(b-c)(c*a)
i I ¢ ¢
=g
[# 2]
)=
[# ]
i Prove that :
&
=
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+x S 2
| 7+l 6 =)
2 § lez
Find the value « if
l.lu b 2!
i Tex 6 24
|1 s Jea
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6. Mthnmhwﬂndﬁq—
/;. ) 2 J 4 5 B

\':24]1&456

Fit a straight linc for the following dats :
3 4 5 3

X : | 2
Y:!JJJ&‘!E
ra=r
Or
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g 5> Aw & udl &) TE H Uy fﬂ"rwrrrmmw
® (1) 12 (n) §9E1 () UH KT G901 () iz 3 ¥R @
wfawa (I

One card s drawn from ¢ well shufferd deck of 5>
cards Calculate the probability that the card will be (1) 4
dimond (n) an ace (i) a black card (¢lub or spade) ()

nut a diamond

TUg-|

Section-(

( & Twftm wv) §x5=2%

(Long Answer Type Qucstions)

ra &U W gre U B 09 &1 v g
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} it Ve ofid T L LIEA] Ferr FAiys .l{ln‘l"ﬂ
f L l'“ f T 'A
J‘\f ’e & th ”-II!’ fn‘ L]

Fuch quesiten carries nrcrAs
7 s fr#ifed

log x F yuu fagr g0 srawerd qE f

(.

- - ol
log a from firs
watial coefficient of
. ificrennal coc
['ind the di

principles
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FAd 90 BN F GG wEEd e fEde

f"”d 'ht‘ dfﬁt‘ft‘ﬂfﬂl‘ C{‘L‘ni{:wn[ [\.'- 1 E L w“h mt ,ll,r

g 2 T = P i
A LIE Ta b f.a sinx dy &1 #- fratiell

o

Find the valuc of ftsm.:‘d.:

Siar
Or

e Fraferd

. 4dx+3 }11

]
- 1 * +

__—-I"
v+ 2/

Find the value of
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A _ yanx-2sinx
dx

Solve:

dy i
La— “. t;lr] .l — zhln ‘

dx
aperdt
Or
J,;.gfr-d.-—”ﬁ-"{'_' = z
< =
08’ X 4y +y=anx i :
O e % %
on [+ ]
a2 %
Solve : 5 :
& 3
, oy . 3 .
. J x A 4- "i" = Ii-ln A
cOs (f,t"
10,4
5 3 4 ] 3 0
A=l1 2 3[B=[-] 2 1
) 2 0 0 2
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?Mnaaf:mmﬁanfaﬂ ¥R fag FAC AL £ BA
I

2 13 4 1 3 0
A=l 2 3l p=|-1 2 1
-1 1 2 0 0 2

then find the value of AR and BA and show AB# BA.

HuEr

=

Or g

HHE A F = amape Franfad el 2
7

) %

3 =2 z

A=-4 1 _j g

2 0.1 :

Find the inverse of the matrix

3 -2
A=1-4 | _
2 0
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X oot 3 s 7 8w
¥ 8 13 15 17 18 20

Find the coefficient of correlation between X and ¥ from.

X 1t 3 s 7 8 10
rual
Or

X 3R ¥ ¥ fam gEl ¥oid0 ug 9@ onE W@ §Ea
Wl F SR Sirae)

X | 2 3 4 5

y - .2 S5 3 8 7

Find cquations of correlation of coefficicnt and rcgression
lines for the following valuc X and ¥:

X , 2 3 45

Y ? 5 3 8 7
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